pr [GeV/(]

20<y <25

25 <y <30

30<y<3.5

0-1
1-2
2—-3
3—4
4-5
5—-6
6—-7
7—8
8§—-9
9-10
10 —-11
11 —-12
12 - 13
13-14
14 —-15
15 —-16
16 — 17
17 —-18
18 -19
19 — 20
20-21
21 —22
22 -23
23 —-24
24 - 25
25— 26
26 — 27
27— 28
28 — 29
29 — 30

0.223 £ 0.010 = 0.002
0.202 £ 0.006 £ 0.002
0.229 £ 0.006 £ 0.001
0.243 £ 0.006 = 0.004
0.241 4+ 0.006 £ 0.001
0.255 £ 0.007 £ 0.002
0.265 £ 0.008 = 0.003
0.291 £ 0.009 £ 0.003
0.316 £ 0.011 £ 0.002
0.308 £ 0.012 + 0.002
0.309 £ 0.014 £ 0.003
0.333 £ 0.017 £ 0.004
0.326 £ 0.019 £ 0.005
0.392 £ 0.025 £ 0.005
0.354 £ 0.026 £ 0.007
0.45 £ 0.04 £ 0.01
0.37£0.04 £0.01
0.42 £0.04 £0.01
0.43 £ 0.05 £ 0.01
0.49 £ 0.06 £ 0.01

0.218 £ 0.006 = 0.001
0.213 + 0.004 £ 0.001
0.216 £ 0.003 £ 0.001
0.224 £ 0.003 = 0.001
0.241 +0.004 £ 0.001
0.241 £ 0.004 £ 0.001
0.262 £ 0.005 = 0.001
0.279 £+ 0.006 £ 0.002
0.298 £+ 0.007 £ 0.001
0.313 £ 0.008 = 0.001
0.323 £ 0.009 £ 0.002
0.328 £ 0.011 £ 0.003
0.344 £ 0.013 £ 0.002
0.379 £ 0.015 £ 0.001
0.378 £ 0.017 £ 0.003
0.418 £ 0.022 £ 0.002
0.395 £ 0.023 £ 0.004
0.457 £ 0.031 £ 0.001
0.478 £ 0.035 £ 0.002
0.51£0.04 £0.01

0.211 £ 0.006 = 0.001
0.209 £+ 0.004 £ 0.001
0.215 £ 0.003 £ 0.001
0.228 £ 0.003 = 0.001
0.241 +0.004 £ 0.001
0.244 £ 0.004 £ 0.001
0.260 £ 0.005 £ 0.002
0.280 £ 0.006 £ 0.002
0.300 £ 0.007 £ 0.002
0.307 £ 0.008 £ 0.003
0.289 + 0.009 £ 0.001
0.329 £ 0.011 £ 0.001
0.343 £ 0.013 £ 0.001
0.392 £ 0.017 £ 0.001
0.398 £ 0.020 £ 0.005
0.353 £ 0.021 £ 0.001
0.435 £ 0.028 £ 0.001
0.408 £ 0.031 £ 0.001
0.42+£0.04 £0.01
0.42+£0.04 £0.01

0.47 £0.05 £ 0.01

0.489 £ 0.035 £ 0.002

0.42 +0.04 £0.01

0.39 £0.05 £ 0.01

0.44+£0.04 £0.01

0.50 £ 0.06 £ 0.01

0.58 £ 0.08 £0.01

0.59 £0.07 £ 0.01

0.47 £0.07+£0.01

0.51 +£0.08 £0.01

0.49 £0.07 £ 0.01

0.48£0.09£0.01

0.47 £ 0.08 £ 0.02



